Geometry
12.1 Trigonometric Ratios HW Day

1 a. Given a right triangle, | can define the sine, cosine, and tangent ratios from an unknown angle.
b. I can use Trigonometric Ratios to solve for unknown sides and angles in a right triangle.
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1. The cos 60°is 1/2 . What does this mean? Your explanation should include something
about the sides of a right triangle.
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2. The following statement is a common mistake that students make with trigonometry ratios.
What is wrong with this statement? How can the statement be corrected?
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Find sin, cos, and tan for each angle in the triangle. X1+ ; T \)-67 2
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Answer each question.
7. In AMOP, ZQOis the rlght angle. Suppose sinP=%. Find sinM .
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8. In ARTZ, ZZis the right angle. Suppose tan R=§ Find cosT.
- (8 - 5
57'+‘5 =X tosT =
x= J34 + JEH
=) 25'+1':X ::_5_-__'\)’3"1:5-)3“
34 :)(L 34 J34 24
3y = X
7N\
In AJAY , ZAis th ‘htz ‘I;S osesinY = 7\/_1—5 . Find tanJ.
9. In ; is the right angle. Supp iln = J_ ?
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10. In ACAR, ZAis the right angle. SupposetanRz%zg. Find sinC.
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